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Instructions for Candidates

Write your Roll No. on the top immediately on receipt of this question paper.

2. The first question is compulsory.

3. Attempt any four of the remaining questions.

4. All questions carry equal marks.

5. Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.
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State whether true or false and explain :

{a) If there are constant returns to scale the long-run average cost curve must
be U-shaped.
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(b)

(c)

(d)

(¢)

2
An increase in the demand for pencils raises the quantity of pencils demanded

but not the quantity supplied.

If a consumer faces a zero price for good x, the budget line is parallel to

the x axis.

A good that has an income elasticity of demand less than zero is called a
Giffen good.

A monopolist’s marginal revenue is always less than the price of its
good. (3 marks each)
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Use indifference curves to show how an individual decides to allocate her
time between work and leisure. Will she necessarily work more if the wage
rate rises ? (7

Suppose the demand for bread rises. What happens to producer surplus
in the market for bread ? What happens to producer surplus in the
market for flour (an ingredient for making bread) ? Use diagrams to
explain. — (8)

() @A R o TERT e gV A fe A3 v e s g @t @ T smm



410

(@)

(a)

(b)
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A consumer spends his entire income on petrol and all other goods. The
price of petrol is initially Rs. 2 per litre. The government now announces a
subsidy on petrol of Re. 1 per litre, for each litre of petrol purchased in
excess of 10 litres. No subsidy is paid on the initial 10 litres of petrol. How
would this affect the budget line of a consumer whose income is Rs. 100 a
month ? : (3)

You own a restaurant selling burgers and employ 7 workers. Each worker
is paid Rs. 60 an hour. A burger sells for Rs. 30. You are a profit maximizer.
What is the value of marginal product of the last worker hired ? What is his

marginal physical product ? (6)
Given the following demand curve facing a monopoly :
Q=14 - 2P

Find the profit maximizing price and output of the monopolist, if she has.
constant marginal cost of Rs. 5. How will the total surplus in this market

change 1f she practices perfect price discrimination ? (6)
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Derive the long run supply curve of a decreasing cost perfectly competitive

industry. (6)
Show that the elasticity of supply for a supply curve that passes through the
originis 1. 4)

At the end of the year an accountant tells you that your firm’s profits are
Rs. 5,00,000. By managing your own firm you forego a salary of Rs. 3,00,000
per annum that you could have earned by working for someone else.
You also have Rs. 10 lakhs of your own funds tied up in your business.
Assuming a rate of interest of 15% per annum calculate your economic
profit. : (5
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5.

5
(a) Explain the difference between break-even point and shut down point for a
firm. (6)

(b) If the government increases the per unit tax on a good x, will the revenue

from this tax necessarily rise ? (4)

(c) (i) Why are isoquants downward sloping and convex to the origin ?

(i) If MRTS, , = 1.5 and the marginal product of labour (L) is 6, what is
the marginal product of capital (K} ? (5)
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(a) [fin the short run the marginal product of a variable input declines from the
beginning (that is, from the very first unit) what will be the shape of the

short-run average and marginal cost curves ? (5)

(b) Explain why the substitution effect of a fall in the price of good x cannot
lead to a decrease ir} the quantity demanded of x. (3)

{c) What is a price ceiling ? What effect does a ceiling on rents have on the

market for rental accommodation ? (5)
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(a) “Subsidies are inefficient as they lead to deadweight loss.” Do you agree ?

Use diagrams to illustrate your answer. (5)

(b) If the minimum wage is above the equilibrium wage in a competitive
labour market, what effect will this have on employment ? Show using a
diagram. (5)

(c) A consumer spends his entire income on milk and cookies. Can both be

inferior goods ? Explain. (5)
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Note:— Answers may be written either in English or in Hmdz, but the same medium
should be used throughout the paper. '
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Question No. 1 is compulsory. Attempt any four
questions out of Q. Nos. 2 to 7.
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1. Answer any five parts: . S (3x5)
1. Explain economic cost and accounting cost '
ii.  Which of the following aspect of taxation involves normative economics?
a) the incidence of (i.e., who actually pays) the tax
b) the effect of the tax on incentives to work
¢) the ‘fairness’ of the tax
d) all of the above
iii.  Differentiate between Causation and Correlation. .
iv.  What are the features of a competitive market?
v.  Explain why two indifference curves can never intersect-ach other.
vi.  Give one example of monopoly and explain the reasons fm»monopbl_y power.
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~ Ram has decrded to always spend one-third of his i mcome on clothmg . (5)

(a)- What is his income elasticity of clothing demand ?
(b) What is his Price elasticity of clothing demand? L
If we observe that this year more apples are bought than last year at a hrgher pnc(e we

* may conclude. that the demand curve for apples i is upward slopmg Do you agree‘l’ Why or

“why? - L -‘ : (5);. -
“What would be the hkely 1mpact ofa drought on the incomes of farmers producmg (a)

- wheat (bjoranges? RO f(S)
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Consrder a consumer who consumes only two goods, X and Y. Illustrate the unpact of : a
fall in the price of good Y on the consumption of good X and good Y if good X is an
inferior good Can good Y also be an inferior good? Explain. =~ ‘ ()

Usmg the concepts of- elasticities of demand and supply, explain — who may bear the
hlgher burden of a luxury tax- the rich consumer or the workers who manufacture them?

, : (S)
Consider an open grassland whe/re prOperty nghts are not deﬁned so that everyone is
allowed to graze their cattle ag/ﬂUCh as they want. What outcome do you predict? What
are the ways to address suchx’“’blemS? )
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ii.

1.

ii.

iii.

-
An increase in income induces a consumer to buy more pizza but less Pepsi. Using
indifference curves, explain the shlft in consumer equilibrium of the consumer if the price

of Pepsi falls. . S0
A firm in a perfectly competitive market is earning only zero economic profits. Would
this firm exit the market? Explain why or why not? _ - (5)

What are the economic implications of the government ‘impbsing a price ceiling on

.. onions below the market clearing price? - (5)

TE UG @ A ¥ giy 9 RIsen A Surer A o Avll @ B A @hed @ o 9Ra awdl
%lmmﬁmmgmwﬁmmmwmmwa
B 9 & Y| '
wwuﬁmvﬁwﬁwmﬁwmmmw%lmqumamﬁ?w
BT |

o Reftval & anffes amerm @r gy ‘
(M)Wwwmﬁmmwsﬁmmmea

(a)sifi ST AR Wger W 3 ATH a4 o BB Y g ST § )

5. (i) What is a price discrimination? What will be the change in consumér surpius a'nd‘ the
producer surplus if a monopoly firm starts practicing perfect price discrimination? )

(i) How the long run average cost curve is related with (a) short run average cost curves, (b) ‘
Economies of scale and (c) Diseconomies of scale. » : (4)

(m)

(i) A monopoly firm has the following demand revenue and cost equations:

Demand: - - P = 3500-10Q¢

Total Revenue TR =3500 Q¢ ~ 10 Q4

Marginal Cost MC =200+ 10 Qq

Where Qq is the quantity in units apd P is the price of the product in rupees.

(a) Find the price and quantity that will maximize the monopoly ﬁrm’s profit.

(b) Find the price and quantity that will maximizé the sdcial_ welfare,

(c) Calculate deadwelght loss from monopoly ' - S B (6)
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i . P = 3500-10Qq

Tl A TR =3500 Qd - 10 Q4
@mgem 0 MC=200+10Qd
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i DISCUSS the - possxble effects of a reduction in tax rate on the (a ) tax revenue (b) :
N _deadwelght loss and (c) size of the market. | NOX
“ii.  Suppose you arein charge of a toll bridge that is essentially toll free. ‘The demand for '
H Vbndge crossmgs (Q) is given by P = 12-2Q. '
(a). Draw the demand curve for bridge crossings.
(b) What is the loss of Consumer. surplus if a toll of Rs.6 is charged‘7 ‘ (2+3)
i, Atax on fertlhzers used in’ productlon of wheat raises the price of femhzers How -
would the supply curve of wheat for a (a) single farmer (b) market be affected in the
short run" Assume that the market for wheat a perfectly competitive market., (5)
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i. The labour supply curve is always upward sloping. Explain why or why not? )

ii. Howis the rental price of land ‘determined? How would the purchase price of land change
w1th an mcrease in the rental price? Explain. 6)

iii. Show how a perfectly competltlve firm may continue to produce in the short run despxtef
suffermg losses ‘ (5) -
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(2) 3546

Use the concept of the production possibilities frontie
to explain the concept of an efficient outcome. Explai,
the difference between a straight line and a concave

production possibilitics frontier. 5

Using indifference curves analysis, the impact of a change

in price of a normal good on its consumption using

substitution and income effects. 5
Consider a non-linear demand curve, 5
(= & «{p-0)

Where A and B are positive constants.

() Show that the price elasticity of demand for this

% demand curve is (-B) at al| points on the demand
[

curve.

\ -
Q (i) Write the equation of the total expenditure curve,

(iif) ~ Suppose B =2. Will the total expenditure rise when
price increases ?

I ATdl o9k (production possibility frontier)

H AeHdl U Rl (elMiciency) 1 JFHRON

HHZTEU | G @iy (straight line) 9 AT (concave)
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(b)

(©)

(3) 3546

I a3 faydoy (indifference curve analysis) 1
e |/ wiga ufmds @ gfomrmes 2 am
v | 3 gwEl (substitution and income effects)

L LE ]

frafafea sitfas @i a% w fem @i,

| Qd = A - (P—B)

Rl A 9 B WA feis €

) <TuET fE o Am oaw & Wi fags w
HT i HiFd g (price elasticity of demand)
(-B) ¥

(i) RTI SAd Ish (total expenditure curve) =hl HIEH
fafEw)

(iif) W’WﬁB-‘—ZI 7 HIAd A qﬁ;%
qfomaeaey =9 | gfs erit ?

Discuss the effects of a price floor imposed by the

government in the labor market. 5

If the world price of a good exceeds, the domestic price
of the good, will the country export or import the
good ? In this casc, who gains from trade — domestic

consumers or producers or both ? 5

P.T.O.
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(4) 3546

L}p)/ Explain how and why a per unit tax creates dead weight
‘ losses in the market. Can the dead weight losses be
avoided if the consumers and producers voluntarily donate
the tax amount and the government repeals the tax in the

market ? : ) 5

() ¥ IR H FI9d F FATH W (price floor) T
e 9™ & wfomeey seTEE (short run) &
SEHETE (long run) H T I anffr 3 A
9E w1 faaEm it

() AR fHE o F Afvas wa saE R T
H e &, @ 59 I 91 3w a9 w7 Fratg woen
e A P ? 39 feafy ¥ wr @ Rl oy
B & — e wOEsT W saRE W m
i |

() TEETEn i e TR ufi s a @ vy
IR H A IR JHFAA (dead weight loss) ST
Bl B afs TR 3W A @) g ¥ ol Suse
q IAEF @ § HT B N R T F Q@
N HA YR THAE H A S gRdl & 7

3. ‘y/ The recent drone attacks on Saudj Arabia destroyed oil
facilities and the country’s crude oil production is expected

. # oA \ w i t
to reduce significantly in the short run, Discuss the IMPac

|
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{5) 3546

of drone strikes on the petrol market in the world and

subsequently the used car market, 5

' \j}ﬁ/ How and why does a firm's average total cost curve differ

in the short run and the long run ? 5

-~
o

_Ac)  Calculate the income elasticity of demand of good X from

the following data. Hence, conclude whether X is an

inferior or normal good. _ 5
PRICE OF QUANTITY OF | INCOME OF
GOOD X (Rs.) GOOD X THE CONSUMER ¢
10 | S50 100 K
b'r,*"l
% 40 . . 200 | : ‘ ;
10 0 e YA

@ wE o HE E g g e W
Yo & wE w1 AR w e § e IS
ad ® F A @ S H e AT
et 30 ) FEE 1 5 G wHel o R
faya g A A TR A A G W
= o B A wE @ faaed wife

w & s @ g e ge

P.T.O.
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1 3T EE w A FAw) e i’-]’-il-Tif?q'q .}{\GO and I is the cost of the metro ticket. Myt w0

X
|I o . ) ,_f_'lF- J-‘i-.\; ab
| W AR X TR FH (inferior) ELa| t o HHY -f.’i () Suppose the supply of metro services she avails . ‘/
I (normal) 9 ¥ is perfectly elastic at Rupees 30 per ride between

——
: - B o destinations. Find the equilibrium number of
qE X &t TR X & IO F two
2 tides taken by Vidhi per month and the consumer
O (%) L EL g
surplus enjoyed by her.
1o X 100 _
i (i) The government propases to make metro ridvs free
" - 20 for all women. Calculate the new equilibrium rides
o X A o and the consumer surplus she now enjoys
. I fi] 3 total cost per nide to
4 .y/ﬁ. country levies a 3% digital 1ax on the revenues camned > (if)y I Rupees: 30 represents. the total cost pe
: . the supplicr of memro services, do you think the
by a local internet search engine company. The company
extra trips Vidhi takes is economically justified ?
responds by reducing the hourly wage rate of all its
empleyees, Using indifference curve analysis, show how ) TF S = &
. T T 9T 30, F fefaza woEm dm o TR
the workers may respondd to reduction in their wage rate. - i 3 i iy
T H A ST B FeaiiE #1 ufa e
Will your analysis depend on whether leisure is normal i o ! -
: wagll w1 wH W A ¥ sEAhmE w feem
or inferior 7 7 . r o -
=1 FerEd ® Zwise fF owdard s T &1
The demand curve for Metro rides for a female employee # 4 F1 fF% Te weqwm R wwa FoF AT
Vidhi is given by : L farrm @ 3w W ol o & fF A (leisure)
v & a ;
oy HEF E HEE ?
2T e il
i y PTO
& il W
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aﬁuﬁﬂ"mcﬁmﬁﬁﬁgﬁm%ﬁﬁﬁmgﬁ

mm?m”%*ﬁﬂaﬁmﬁh'

(0 AT fF awE oo A W

A W w7 Hep i T ouf g o
T T perfectly elast

i) T A A
e 5 faf go ufs v = s A s

F T A T I S (consimar
surplus) 1 T #ifom

Gy FER ) F s i afend i

Eealeze el i hoe B S HE: SEEs
T s w1 HEm a3 Ahems T
EATEId]

(i A B2 F wmEen 7 @ AR 30 T v
AT E, M TN A e 7 TR faty g
F1 AR me wfafem A sfds 'R

| '{{ﬁ’l"ﬁﬁ (economically justilicd) i A
|

09y 4
5 brl’"' Deline price discrimination £ an perfeer price
discrimunation remove the dead weghn s B Lytesd
with a monopaly 4
.-Jy Why do competitive firms stay in business if thes maie
gerw profits 7 Explain 4
éi‘.r.'b Consider rwo countries Jupan and Australia producing
two gonds Toshirts and brownies. Each coustey has one
million workers. The following table gives the producton
of two gowmds per worker per By in cach countm T
!
 A— T-SHIRTS BROWNIES
| P
N s (1N DOTF NS
A7
Y
L JAPAN n \8
AUSTRALIA (] 10

i Which country has absolute advantage in

. producing brownies 7

() Draw the production possibiliny frontier of both

countries,

i Dy calentntimg oppertunts cost, Tind whith country
hus comparative advantage in Teshins and brownie

prosfuction ?
() What should be the pattern of trade ?

ETO
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e RLt7

Fra favz (price discrimination) &) Tfrwfag (1) 3544
: Z-'31""‘{]13_‘1":‘{”9‘7{?-lpcrl‘cclr-riu: discriminnlinn] LATHT Ay (comparative advantage)

wmlmnnupol}}ﬁ mﬁn?ﬁﬁ“ﬁ?ﬁﬁ 'l m-frg 2 % wm 2 9
Twmt

(@)

———

() P ] TR (patern of trade) P EA
3 Y@ T T R >

qagEn 6. i Derive the demand curve for labour in the competitive
) = I, A-2 71 qroy T T Y A I markel. What causes the labour demand curve to
F e R faam T | fer |: - shift 7 Explain 5
TOE TR W 'ﬂﬁﬁ Eal G gfas wiAfr E ot | k- (A7) Why is a monopolist's marginal revenue less than the

0 . 2 ” 5
. fem S % price of its goods ? Show the profit maximizing level of
-9 gl output and price for a monopolist 5
[T ] D’/CNHML‘( variable cost for a competitive firm in the
A i0 if following table - 5
T{h%fﬂ'q[ i 5 l(}mmlil) 0 \ 1 l 2 3 . 4 - 6 l

(0 A F 3§ fEm dwmow e fraw
TN (absolute advantage) t?

TVC |Rs.] 015‘9 u\m\:slr@.l

If the total fixed cost of the firm is Rs. 12 and price of

(ii) H-Fﬁ i & - 5 A output is Rs. 7, how many units of output will this firm
T’F-Th'q,l produce 7 What is total revenme and total cost 7 Will

the firm operate or shut down in the short run? Brefly
(i) FAE T (opportunity cost) T T FlH

T wifae & A-w g e F 3o #

eaplain,

BTO.
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Instructions for Candidates

. Write your Roll No. on the top immediately on receipt of this question paper.

. There are six questions in the question paper. Answer any four questions.

. All questions carry equal (18.75) mark

. Answers may be written either in English or Hindi; but the same medium should be used

throughout the paper

- 3F WA UF & A & 379 AT IW T av e wue w faf@u
.30 U UF H BE WA g1 Ry 8 IR geat Fr 3 <

. el ueaAT & 3R (18.75) WA gl

ueEl & I OIS o B A Ru o Gahd &1 Weg [ 9o 99 # T & AT H

39T AT ST TR

Provide brief comments on the following statements. Attempt any five. (3.75 x 5)

a. Prices carry all the relevant information about consumption demand and production in a

competitive market economy.

b. Along a linear demand curve, the price elasticity of demand is constant.

c. Consumers are necessarily better off when a closed economy opens its market for international

trade.

d. The substitution effect for the change in price of a Giffen good is positive.

e. A non-discriminating monopolist always sets the price above the marginal cost of production.

f. The indifference curve is downward sloping if both the commodities are ‘bad’.

1. Ffafaa Fu=r # d el 5 @fgica 9x fecaol ST | (3.75 x 5)

a. AT gfaegdl SR ey § @ug & #@ET 3R 3cUeS & aN F g g
SRR T@r §

b. Tk YW@ AT T & T, AT H Hroag @ 2w &)

¢. 39 Teh s FATIEAT IRTSET IR & AT 3T SoiR Wiy & df 39Yierar 3maeds
I & dgaR g &l

d. Giffen good Y FAT F Fead & AT YATATIST THT FHRICHSF ¢

e. U HAga IR THISR gAAT 39Tl T WG aPtd & FR A FAd [AURT Har

gl

f.afe et awqU Tue § O SeieTdT 9 A @ 3R ST B |

2.

a. Apple and Samsung both make mobile phones and tablets using labour as an input. The

amount of labour hours needed to produce one unit of each type of device is as follows:

Hours per unit

Mobile Phone Tablet

Apple 2 5

Samsung 5 7

Let 4 and [# denote the labour employment by Apple in the production of mobile and tablet,

respectively. Similarly, I3, and [7 denote the labour employment by Samsung in the

production of mobile and tablet, respectively. It is further given that [4 + 4 = 70 and I3, +
1§ =70.

Calculate opportunity cost of each type of device for each company and show that
Apple has comparative advantage in producing mobile phones.  (2)

If each company divides equally the labour available in the production of the two
devices, what’s the total production of each device in the economy? 2

Suggest an allocation of labour for both the companies such that the total production of
each device is higher than that in part (ii).  (4)

b. Draw the indifference curve for a person deciding how to allocate time between work and

leisure. If there is an increase in wage, is it possible that the person’s consumption would fall?

(5.75)



c. A plague that reduces the labour supply can affect the earning of the land owners. Do you

agree? Give reasons in support of your answers. (5)

a. v 3R AAHT A Uk SAYC & T A HH F 3UAE I AT Bl IR
ol T §l UAF UFR & IUGUT H UF ZHEE H 3UGT WA F AU
37aTF HA Hel Y AR 57 YR &

Hours per unit

Mobile Phone Tablet

Apple 2 5

Samsung 5 7
14 3R 1f wAw: Aasa AR e & 3cUed H Apple GORT HH USEIR &
AT aar g1 56 ORE, S 15, 3R [f wee: Aesa 3R dgoe & 3cued H
JAFT gaRT HH7 VooR & AE0T d §1 3T 3ITelet STdry 1 + I = 70
IR +15=70.81

i. TP HTN F AT IR YRR & Basd i 3@ e o auEr w3
G@e fh Touer & HGIST BT & IcUleA H JelollcHn o1 g1 (2)

ii. g IAH FUAT g IURON & IcUeA H THAT T & 3Ty A7 A fFeniaa
A 8, A srdeaaedr # YAF Basd 1 For 3cures = 22 (2)

iii. Aol Fufeat & T s & ded 1 g & N F gdw Baww @1 Fo
3cutea T (i) B Jorar H 3fUE F1 (4)

. HEA AR IEEY F AT THT ERd e FT [AUT o are wgfFd & v
3SHIAAT a SAsd | AT ade & gefdr g B, a Fr ¥E wwa § & cafda &
gId X Smee? (5.75)

. T T St HA MYfT B HA A g, R Afael f FAS w genfad # dhar
T FIT 3T TEAT &7 397 3R & TAST H FRUT & (5)

The market for vanilla ice cream is given by the following information:
Q% = 800 — 30P” + 10P°
Q° = 250+ 30P¥ — 10P™
Where Q¢ is the quantity demanded, QS is quantity supplied, PV is the price of vanilla ice

cream, P¢ is the price of chocolate ice cream and P™ is the price of milk.

i. Let P°=10 and P™ = 5. Calculate the equilibrium price and quantity in the vanilla ice
cream market. Compare the own-price elasticity of demand and supply at equilibrium. (4)
ii.  Calculate the cross-price elasticity of demand for vanilla ice cream. What does the sign of
the elasticity tell you about the relationship between vanilla and chocolate ice cream? (3)
iii.  Suppose the price of milk rises to 6 per unit due to taxation in the milk market. Show the

impact of this on equilibrium price and consumer welfare in the vanilla market. (8)

b. Explain the problem with imposing competitive pricing in the case of a natural monopoly.

(3.75)

AT ISR F TR AR Feafaf@a &

Q% = 800 — 30P” + 10P°

QS = 250 + 30P” — 10P™
SgT Q¢ & AT &Y IS AET §,0° B MRt dr S AT g, pY AfAar sHHA FHr
HIA §, P Alhoic IMSEDHH I HAd § AR P gy T FAd B
i, AT PC =10 3R P = 5. 8| AfTeM ISERA TR A FJoeT Hed 3 AT H
AUTAT Y| FJoled W AT R ITqfer o Fad iy AT A A Jorar w (4)
ii. AT IMSEHA H ART & FE-Hed AT H AT HY| AT H Hbd IR
AT 3R Aidie INSTHH & ST & oYU F I F FA7 gad1ar 82 (3)
iii. A AT & gy i FAT qU 96K H FAUH F FROT 6 i Ifae g S
g1 AT SER A Helel Hed R 3UIFAT HEAOT W SHHT TG @ (8)
b. JTfae TSR & AFe A gfaeadt Hea FuRer & @y g e # g s
(3.75)

Suppose in a closed economy, the Ministry of Commerce decided to promote handicrafts
sector within the country. It took two measures of promotion. One, it ran a country wide
campaign and organised Handicrafts Mega-Mela in various cities in the country. Second, the
Ministry provided the latest tech-equipment to the producers of handicrafts at subsidised rate.

i.  Show, with the help of a diagram, how the above two measures increase the equilibrium
quantity of handicraft products. What happens to the equilibrium price? Label before-
promotion equilibrium point as E, and post-promotion equilibrium point as E;. (6)

ii.  Consider E; and suppose, the government opens the handicraft market for international
trade. Assume the world price PYis higher than the domestic equilibrium price. Discuss

the gains and losses in the welfare of economic participants from this policy. (6)



b. Consider a market for cloth masks. The demand curve is given by Q¢ = 1000/P and the FARN AT 200 &1 IIHT HWT p = 60-5q & IS5 § Il p IS ShS Hed &

supply curve is given by Q° = 10P. Show that if a unit tax ‘t’ per unit is imposed in the i. 98 @ F w7 g1 ameral 3R 3rwel qarst & AR F @y g o §1 (4)
market, the sellers and buyers will share the burden of the tax equally. (6.75) ii. FAT B ¢ &Y ST AIRU? FAT IT FAT ALT AT HIfSA| (6)
. b. S IR W =TT & H FEfT @ 3 TG 81T 3R 31 Je7a A1 gy 2 Sfgh
a AT AHT B b oy dcuaer ¥, AffIe FA & A & MR FEARET 87 F FIT HT ST T H Fef F G TH WA TG FAF Tl & 3 RGN M gw
JeraT ¢4 &1 hagell RdT| 38T YR & af 39T fhU| U, 3T ey 3iffa= =arar FAST| (8)
A 2o & R ol gEaRieT MM FEA RRU| G, FAGT & e &
& W EEARITTE & cueEt # AdTaH dFeTE-39ERoT Yee T a. Suppose the labour welfare (W) in an industry is defined as W = wl, where w = wage rate
i. Th RIT @ Aeg ¥ @t $¥ SRS o 3UET ¥ geafdey Scurer & W and [ = no. of labour hours employed. Assuming a downward sloping demand curve for
AET & aLEﬁ—T g W AT FTFIT @O TSl & Ug o9 Eo F &7 & labour, show the impact of a minimum wage policy that leaves the labour welfare unchanged.
Tee fig 3 B & w9 7 die-adefa dgee g € 1 (6) ®
i. By R AR #Y 3R AR o, WER HFRT@'J MR & AU gedser ok @rerdr b. Why do governments regulate monopolies? Does a perfectly discriminating monopoly need to
I GIRCIECED 7T P EI'QT»[\ W AT ¥ 3% ¢ 5@ AT & 3l vt be regulated if the government defines welfare as total surplus in a market? (6.75)
F FHegor H 19T 3R g1 W = PR | (6) C. “The pharmaceutical firms set high prices on some life-saving drugs. The government should
b. #U3 F HAEH & AT T FeiR W f[FaR H| AT g% Q¢ = 1000/P 3R 3-]'|'q"\1?'[ EED intervene and regulate the market price”. Discuss the positive and normative notions involved
Q¢ =10P f&am = g1 IE fG@w & Ifg sor & 9fq gfae v X oemar S g in the above statement. Suggest a method of government intervention in light of the statement.
TaohdT 3R @WIER X & 15T FF TAA T § ABT HT| (6.75) (6)
6.

a. The market Happy Holidays is a tour and travel company operating in a competitive market. o 7 DT B Ry m 3 ABF T (W) B W = wi, ¥ ST T E S w
Due the recent health pandemic, there are travel bans in many parts of the world and it has = oGl & 3N | = FF P T (in hours) ¥| TF AT gu & 49 ¥ T A7 9
adversely impacted the demand for its services. Suppose its marginal cost given by ¢ = 2q FT TeI(slope) Y #r IR T, qFATH w AT F1 yT @ S T Feamor
where q is the units of sales. The fixed cost is 200. The current demand is given by p = 60 — Fr sfafda o &ar & (6)
5q where p is the price per unit. b. THR THIMHR & F41 AATT FIA §2 I WHR TR & Fel AT & &9 A

i.  Show that the firm incurs losses with these costs and demand for its services. (4) FHA0T S YRANT &l & ar «ar qﬁ TWE T ASHTT e dld THITARR &l
ii. Should the firm shut down? Explain why or why not. (6) RfafdaT Fa $Hr 3maeTear §72 (6.75)

b. What are the substitution effect and income effect associated with an increase in interest rate c. “gdTl HUtaAT o FS SgaeTsd Earil W 3T o AYRT fFar &1 AR F1 55
on saving deposits? Show and explain on a diagram a case where the savings of a household FEAET o ek Hed # (AT & @ifde)” 3Wied &ud # qidd
remain same after an increase in the interest rate of saving deposits. (8.75) FFENIcAS 3T grATOe eRom3it fr Ta KA | 99+ & ot A TR & gEaalq

FT TH el adisd| (6)
a SR ¥ AfRS Ud @ US Lad due § o gfaeddt soR # @ W @
giforar Tarey ARERY & SO, g & % fewdt # amr gfadfud § o oo @
Fuel T Jarst Hr AT W gfdme goTg gsT g1 A faw fF & 18 diAid dmerd o=
2q¥ qfeshr &1 shrgar €
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Instructions for Candidates

. Write your Roll No. on the top immediately on receipt of this question paper.
. There are six questions in the question paper. Answer any four questions.

. All questions carry equal (18.75) mark

. Answers may be written either in English or Hindi; but the same medium should be used

throughout the paper

- 3F WA UF & A & 379 AT IW T av e wue w faf@u
.30 U UF H BE WA g1 Ry 8 IR geat Fr 3 <
. el ueaAT & 3R (18.75) WA gl

. TREl & 3R S A1 R A RU o1 @ohd & Weg R 9 9T & T & ATUIH T 39T

T ST TR

Provide brief comments on the following statements. Attempt any five. (3.75 x 5)
a. Society faces a short-run trade-off between inflation and unemployment.

b. Accounting profits are higher than economic profits.

c. Market do not allocate resources efficiently in the presence of market failure.
d. For a competitive firm, its revenue is proportional to the amount of output it produces.

e. A monopolist firm faces a downward sloping demand curve.

f.  The demand for factors is a derived demand.

1. F=fafaa Fu=r # T el 5 @fgiea 9 fecuolr e | (3.75 x 5)

a. eUertel #H FHTS, AGIS 3T SR & &1 trade-off &1 HTHAT T &

b. JGieheT oM 3T oIMeT T 37MAF T

- o a o

SR fatherar i 3Rl # a16R Ferdarqdes FaTe H JEe qg Rl
T gfaeat oA & T, gHe Tored Scuresl d AET & Hedrd & i &

T THITOHR B T A1 Gl g3 AT a5 H JHAT Fol 81

FRE! H AT T Gcdoed AT G

a. Apple and Samsung both make mobile phones and tablets using labour as an input. The amount

of labour hours needed to produce one unit of each type of device is as follows:

Hours per unit

Mobile Phone Tablet
Apple 2 5
Samsung 5 7

Suppose each company have 70 units of labour to allocate between the two production.

i.  Calculate opportunity cost of each type of device for each company and show that Apple

has comparative advantage in producing mobile phones.  (4)

ii.  If each company divides equally the labour available in the production of the two devices,

what’s the total production of each device in the economy? (4)

iii.  Suggest an allocation of labour for both the companies such that the total production of

each device is higher than that in part (ii).  (5)

b. A plague that reduces the labour supply can affect the earning of the land owners. Do you agree?

Give reasons in support of your answers. (5.75)

a. ¥l 3R HFHT 2l Toh gaYe & T A SH FH 3UANT S AT Bl IR Tele
FATT &1 IAF TR & 3IIOT T Ueh SHS I 3cUIG el & [T 3TaTF HF

el T AT 39 UFR &

Hours per unit

Mobile Phone Tablet
Apple 2 5
Samsung 5 7




A oot fF 9cd® &9ell & 91 &l 3c9leed & did Jafed el & falw 70
gl H HH T

i. UAF HU F AT URAF YR F Basy 7 3EWR Rt f& aoEr AR
G@T fh Toqel & HIGISST BT & IcUlea H Jelollcaeh o g1 (4)

ii. TG IcAH FU & TR0 oh 3cdIGd H AT ®9 ¥ 394 #H & fqanfaa
& B, A srdeaaedr # yAF Basd & For 3cures Fr 22 (4)

iii. Xt Fuferdt & AU 4\ F deaT @ goE & oW 6 v Basd & g
Scutea H1ET (i) B Jorer H 31f8H 1 (5)

C. Th ol S A Yf T A AT B, A Aot T FAS H gHIfAT FX Fhl

a.

b.

a.

&1 &7 3T AT 82 39 IR F FHAT H SROT &1 (5.75)

The market for vanilla ice cream is given by the following information:
Q% = 800 —30P¥ + 10P¢
Q° = 250+ 30P¥ — 10P™
Where Q¢ is the quantity demanded, Q¢ is quantity supplied, P? is the price of vanilla ice cream,
P°€ is the price of chocolate ice cream and P™ is the price of milk.
i. Let P¢ =10 and P™ = 5. Calculate the equilibrium price and quantity in the vanilla ice
cream market. Compare the own-price elasticity of demand and supply at equilibrium. (4)
ii.  Calculate the cross-price elasticity of demand for vanilla ice cream. What does the sign of
the elasticity tell you about the relationship between vanilla and chocolate ice cream? (3)

iii.  Suppose the price of milk rises to 6 per unit due to taxation in the milk market. What will

be the impact of this on equilibrium price and consumer welfare in the vanilla market? (8)

Explain the problem with imposing competitive pricing in the case of a natural monopoly. (3.75)

IfAer TR & TER AHARRT HeaTaildd §:

Q% = 800 — 30P¥ + 10P¢

Qs = 250 4+ 30P” — 10P™
SgT Q< & AW &Y AS AET §,Q° N MY Hr S AT B, pY Afem sHAA Y
AT g, P° Aol HSHHIA & HIAD ¢ AR P™ gy & HAd ¢l
i\ P =10 3R P™ =5 8| AT MSEHHA SO H HJol Hed AR A= H
AUTAT Y| Fefoled R AT R el T Fad &1 HAT o i Jorer AL (4)

ii. AfFem TEEHA HY AT F HE-FHeT ol H AUET H AT F Hhd IR
e 3R dihoie IBTHA & &g & T F IR & FI7 Id1aT 82 (3)

iii. 7T AT & gy i FrAaT gy TR F FUW & FROT 6 9fT A g e
afer 9o & Helel FHod 3R 3usiercl SHoAT0T WX SHAT TT1d FATEIM| (8)

b. grhfaies TIRAR & A # gfaeddt Hea AERor & @y gHem # gHAw|
(3.75)

4. A monopoly faces market demand Q = 30 — 2p and a cost function € = 1/4Q2.

Find the profit maximizing price and quantity and the resulting profit to the monopoly. (4)
What is the socially optimal price? Determine the deadweight loss (DWL) due to monopolist
behaviour. Calculate consumer surplus (CS) and producer surplus (PS). (5)

Assume that the government puts a price ceiling on the monopolist at P = 8. How much output
will the monopolist produce? Is the deadweight loss higher or lower now? Discuss. (5)

What price ceiling should the government implement on the monopolist if its objective is to
maximize the total surplus? How much output will the monopolist produce at this price ceiling?
Calculate the profit of the monopolist and the Deadweight Loss? (4.75)

4. TH THTASR SR T AT Q = 30 — 2p 3R TS P € = 1/4Q2 FT THAT HT gl

a. o1 &I AARAH A & Hed iR AT IR THRAFR & IROMAETET 18T HT AT
ST | (4)

b. HTHITS ®T & FoCAH Hed AT §? THITUGNAE TGN & HRUT 33T offd (DWL) T
iR AT va sgsiear 3WAT (CS) 3k [ATAr 3RAT (PS) A 01T RIS (5)

c. AT o o EPR THITUSHR T P=8 Hed AT o@Mcl &1 oF THIMUSRY Fhelall Scdree
FLM FAT W H 3¢ i A AT ST &2 TAT Hifed | (5)

d. I 3eged For MUY T T A &, A TWHR I THITUHR R 6 Heg dar
FI ] AT TRT? H Hed AT T THIGRRT el ScdTeet HaMm? TehlTeIhrRardy

3R 33dT AT F AT T I0EAT HL? (4.75)
5. Suppose that the market demand for a product is given by @, = A — Bp . The typical firm’s cost

function is given by C = F + cq + dq?, where p is the price, Qp, is the aggregate industry level demand

for the product, and q is the output produced by each firm.

a.
b.

Compute the long-run equilibrium output and price for the typical firm in this market. (6)
Calculate the equilibrium number of firms in this market as a function of all of the parameters in
this problem. (6)

Describe how the increase in the firm’s fixed cost function affects the long run equilibrium

number of firms in this example. Explain your results intuitively. (6.75)



5. AT NoT F Rt 3cure & O S9R 1 AT Q) = A — Bp &Y a1 | G&H B3 &r T # amw et v gfar g1 aEr # f§are v e T fir fiEa sra F 80 usD 3
ol C = F + cq + dq?, 8, 5181 p HIA 8, Qp 3cU1G T el ek AT 8, 3R g T wat AT F 200 USD &1 AT & AT 3@err arfiis a7 6,000 USD 81 SS¢dd @Id &5l #H,
FT 3cae Bl TRr 39T MY AR & I W W T Al & 3R 3mem [_ger I=m )|

a. 38 99X A faRrse & & AU od @HT d& Hee 3cdies 3R HAd & aorEr
FIfST | (6)

b. 30 FHEAT H He AU & Uk Hold & & H 3 TGN & Hufadl HT Hlelel H&AT
#r T RS | (6)

c. AU & B & fARYT dHTd Bold H gefdr 39 3aI0T H o FHY e dold drell
%At fr T F FA ganfag A g1 39 aRomAt S T8 ® @ GHSIT| (6.75)

a. Nicky enjoys travelling within India and in Europe. Her utility function is: U(IE) = IE, where
I denotes the days spent travelling on vacation in India and E denotes days spent travelling in
Europe. The price of a day spent travelling is 80 USD in India and 200 USD in Europe. Her
annual budget for travelling is 6,000 USD. At the optimal consumption bundle, Nicky spends
half of her budget on travelling in India and half on travelling abroad.

i. Find Nicky's utility maximizing choice of days travelling in India and in Europe. Also
calculate her utility level from consuming that bundle. (4)

ii. Suppose that the price of travelling in India increases to 100 USD per day. What is the total
change in quantity of E and I? (4)

b. “The pharmaceutical firms set high prices on some life-saving drugs. The government should
intervene and regulate the market price”. Discuss the positive and normative notions involved in
the above statement. Suggest a method of government intervention in light of the statement.
(5.75)

c. The aggregate demand for flats in Kalkaji is Q, = 100 — 5p and supply is Qs = 50 + 5p.
Quantity (Q) is measured in hundreds of apartments. Price (p), the average monthly rental rate,
is measured in thousands of rupees. What is the change in city population if the government sets
a maximum average monthly rental of 10000, as all those who cannot find an apartment leave
the city? (5)

a o @ ARG & R QAT A AT HEAT GHG g1 IHHT IYAAAT Folel: U(IE) = IE
€, STl 1 gefedl & R & I el & faare et & geifar § 3R E 09 & I e

i R AR A9 A T & AT A @R & HRbdH U@ e aomEr
FITST | 39 95l & Udel T 3T YT o T I Y I0TAT AT (4)

i. AT ST fF o & I A g gfa & 100 USD d% d¢ I &1 a9 E
3R 1 A F Fa aRads @ gem (4)

b. “gaT Hufadl o Fo Shaeers gans W o0 Hqog AUiRd fFar &1 @R+ gad
FEART e TOR Hed 1 AfHafAd wem =fde)” swWied wud d arfdd
FFERIcAS 3R TafOe aRonait fr 9ot o] a9 & T # TR & gedaq
FT TH T qd3d| (5.75)

C. WIeRhrSl & wolel & Tl AT Qo = 100-5p ¥ 3 3MYfet Qs =50 +5p &1 AT (Q) H
st HACHT H AT AT §1 {oF (p), 3Had 71w R 6 X & go’t &0 7
AT ST &1 UgT Y MEET H FAT Seod T 3PR TIHR 10000 T 38R
e mfee e Tuifa #d 8§ g 13 @i &1 I oF HICHT FE 9T G
g, ET IS g2 (5)



